
Supporting Table S1: Performances of the new ENM during the iterative procedure

dENM sENM10 sENM13 sdENM
Iteration step rB εσ rB εσ rB εσ rB εσ
k = 0 0.67 0.92 0.63 0.56 0.66 0.64 0.69 0.54
k = 1 0.68 0.75 0.63 0.55 0.66 0.63 0.70 0.51
k = 2 0.69 0.64 0.63 0.55 0.66 0.63 0.70 0.49
k = 3 0.69 0.59 0.63 0.55 0.66 0.63 0.70 0.48
k = 4 0.69 0.56 0.63 0.54 0.66 0.62 0.70 0.47
k = 5 0.69 0.54 0.63 0.54 0.66 0.62 0.69 0.47
k = 6 0.69 0.53 0.63 0.54 0.66 0.62 0.69 0.47
k = 7 0.69 0.52 0.63 0.54 0.65 0.62 0.69 0.47
k = 8 0.69 0.52 0.63 0.54 0.65 0.62 0.69 0.47
k = 9 0.68 0.51 0.63 0.54 0.65 0.62 0.69 0.47


